0 Complete the table balow for the three passengers.
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o The taxi company charges a base fee and a fee for oach mile traveled.
What is the basa fea, and what ia the cost per mile?
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€) Comolete the table below for the three passengers. 56106
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The taxi company charges a base fee and a fee for each mile traveled. ':_; 4
What is the base fee, and what is the cost per mila? ; /
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o What would be the total cost for a passenger who travels 10 milea?
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o Complete the table below for tha thrae passengers.
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The taxi company charges a base fee and a fee for each mile traveled.
What is the basa fee, and what is the cost per mile?
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o What would be the total cost for a passenger who travels 10 miles?
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€ Complete the table below for the three passengers. ﬁ
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@) What would be the total cost for a passenger who travels 10 miles?

o The taxi company charges a base fee and a fee for each mile traveled.

What is the base fee, and what is the cost per mile?
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€D Complete the table below for the three passengers.
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o The taxi company charges a base fee and a fee for each mile traveled.

What is the base fee, and what is the cost per mile?
%r‘.-’m & l}i:'i a

LAY

is $2.

Mo !
\1:1.'1:.7{' +3
NRUES

1

Illl:l |'|"|1|'

89 1

‘Miles Traveled

1AB00 -

[F LN L] ]g")f

B) What would be the total cost for a passenger who travels 10 miles?
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